(4)

fraer R g @ IR &R 18 Ufirerd a1fte © | YoiaRor & Srere™
fafr grr w@fa fAeifere | @ @nfa @ Al e Bl afe saa!
TTOTT YSHRYT & ST Ml & §RT BT Sl 27

A firms profits during 2010, 2011, 2012 and 2013 were Rs. 16,000,
Rs. 20,000, Rs. 24,000 and Rs. 32,000, respactively. The firm has
capital investment of Rs. 1,00,000. A fair rate of return on investment
is 18% p.a. Calculate goodwill by capitalisation of super profits
method. Will the amount of goodwill be different if it is computed by
capitalisation of average profits? Confirm your answer numerical
varification.

31erdar ,OR

frifdhd B AHSIST -

(a) Yol ofEr iR amr Reafd faexor

(b)  XEY o UG YE XA oA

Explain the following :

(a) Capital Account & General balance sheet

(b) Revenue Account & Net Revenue Account

Rt foreat T T BT -

Consolideted the following balance sheet :

faaRor (Particulars) g for. Ty fen

(HLtd.) (SLtd.)

AT Td SR

(Equity & Liabilities) :-

SNRINECAL

(Share holders funds) :-

3131 goil (Share capital)

gfer 3fer 10 %, gofed 15,000 10,000

(Rs. 10 equity share fully paid up)

Fag UG M —

(Reserve and surplus) :-

AM—BI fdaRor () 3,000 3,000

(Statement P&L A/C surplus)

1] &1fa (Current liability)

TR <A1 (Trade payables) 5,000 2,000
23,000 15,000
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0C-304-S
B.Com II Year , Supplimentary Exam. - 2020-21
Subject - Accounting Group
Paper -1
(Corporate Accounting)
M.M. 40

qIe I ye B BIfoTY |
Note : Attempt all questions.

(iv)
v)

¥us ‘I’ (Section-A)
IS g9 (Objective Type Questions)
qarsy fFrefaRad deM 9 § a1 /[ 1x5=5
State the following statements are "True' or 'False':
U UIRSMAE HH BT Yo 9 ¥ |
Managerial remuneration is capital expenditure of a company.
I U IgeF AR 2 |
Goodwill is an intangible assest.
fAf3a facer a9 99 ST -l FaERI ®I ECTHT ATIF ¢ |
While preparing the consolidated balance sheet, it is necessary to
eliminate inter-company transactions.
IfTfe ofel &1 faeras golt & &1 Uah WiT (@) 2|
Concellation of unissued capital is a part of capital reduction.
T FraHe SR & 91RT 17 & SITHR 99 & oM BT BH I HH
25 yfcerd derf+ie Faa H SRR fhar ST & |
Under Banking companies Act, section - 17, minimum 25% of current
year profit is transfered into statutary reserve.
¥os ‘Y’ (Section-B)

oY SR 9 (Short Answer Type Questions) 2x5= 10
ST D ARTH @Al H AT RIT FAHSK 22 HFAT & (IS BT g
Uy IR HITT |
What do you understand by Final Accounts of companies? Prepare
abridged form of balance sheet of a company.

312rar , OR

AW & Yd UG UTEN] Bl o AT Bl et &1 fafer &1 qoie
I |
Describe the method of finding out profit or loss prior and after
incorporation.
T A FIT M 57 WA Jodidb dl Al 98y |

What do you mean by goodwill? State the methods of valuation.
0C-304-S
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3ferqr/OR
AT~ TR dTel SUHAT & ofdi dl IRy forRed |
Write the features of the accounts of public utility undertakings.
T IR HFAT BT RISaT I F9 @1 oI 3eudd amikal &
f2d @1 TUET B B SR 2?
How are the goodwill and minority interest calculated while preparing
the balance sheet of a holding company.

3ferqr,OR
FRAR® & @Td BT [9aR0T | 39 91 FAST 2° SHET AT 99184 |
What do you mean by liquidator's statement of account? Give its
specimen.
e & wWTa 9 Ha & WEIT & THTHRYT I AT R FHSI 57
What do you mean by amalgamation in the nature of merger and
nature of purchase?

3rerar /OR
fobet gmail # aridRe YA+ areg 8 ST 27?
Under what condition internal reconstruction becomes desirable?
d% # fAgui & Aff= yeR Iarsu |
Discuss various types of deposits in a bank.
3rerar /OR
FrferRad # gg Wiffgd &1 IRr &1 ToMET I -

From the following calculate the amount of not premium :

Rs.
¥ # ure WifeH 2,50,000
(Premium received during the year)
qY @ AT H I WA 30,000
(Premium outstanding at the end of the year)
T 9 & 3T H rexT Wi 20,000
(Premium outstanding at the end of previous year)
Wiepd gAdEr diiH 15,000
(Premium on reinsurance accepted)
AT gear WA 10,000

(Premium on reinsurance ceded)

0C-304-S

3)
¥us 9 (Section-C)
" SRg 799 (Long Answer Type Questions) 5x5= 25
TS A7 o™ &RIT 8° SATIeT I & WY H Rl srfefee
& fAf=T yTae=i BT FHgHR forfRau |
What are the divisible profits? Explain the various provisions of
company Act regarding distribution of dividend.
3rerdr  OR
A fAfis &1 T 1 3R 2013 B X HH foifics & R &l
1 31U 2013 & HT B B o1y oI | 1 =g Suetey &

fh_TaT Td B %, 12,000, 49T 3. 3,000, fdSTell T 9. 2,400,
A %. 36,000, HATADI DI BIF T. 4,600, HHIL %. 6,000, =TT <.
4,000, BT ¥. 3,500, BRI I B. 7,500, TSI HTST %. 3,000, 9
gYg 2. 1,500, URMAS T 5. 6,500, gdd ZUT %. 2,000, RUT UR Tl
%. 3,000.

31 W1 2014 BT FHG BF el a¥ b o gt [@w .
5,00,000 SR | %. 1,50,000 BT fdehl 1 31U 2013 ¥ 1 TR 2013
D1 JAAT BT ol | IY HR & ADHA ™ 2. 1,55,000 o | FHRAT & g
TG U Irafd & for ot faifery |
A Ltd was incorporated on 1st August 2013 to purchase the running
business of X Co. Ltd from 1st April 2013. The following informations
are available :-

electricity charges Rs. 2,400, Salaries Rs. 36,000, Director's
Fess Rs. 4,600, Commission Rs. 6,000, Advertisement Rs. 4,000,
Discount Rs. 3,500, Office exp. Rs. 7,500, Carriage Rs. 3,000, Bank
Charges Rs. 1,500, Preliminary Exp. Rs. 6,500, Bad debts Rs. 2,000,
Interest on loan Rs. 3,000.

Total sales for the year ending 31st March 2014 were Rs.
5,00,000 out of which sales of Rs. 1,50,000 were for the period
form Ist April 2013 to 1st August 2013. Gross profit were of Rs.
1,55,000. Find out profit prior to incorporation and post to
incorporation of A Ltd.

Td THH BT AT 2010, 2011, 2012 37X 2013 H FHAI: 16,000 B., 20,000
%, 24,000 . 3R 32,000 F. o7 | BH BT AT 4ol 1,00,000 3. % |
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10.

®)
I Rt (Assets) :-

fafder wwafrar 11,000 15,000
(Sundry assets)
v for. # 900 33 AT W 12,000 -

(900 shares in S Ltd. at cost)

23,000 15,000

312rar , OR

HFA B AT ¥ AT R AAS 57 BT FATIA ] AT qargy |
What do you understand by winding-up of company? State the
methods of winding-up of company.

ERIRD AR RN B [hd HEd 82 TS HHT D
T 3 P W Ul wrRed @ e &
What is transferor company and transferee company? What journal
entries are made in the book of transferor company?

3rerdar /OR

31 farfics &1 fRrear ftaa 2 -
The Balance sheet of A Ltd. is as under :

fdavor (Particulars) IR (Amount)

I |¥ar v§ Qe

(Equity & Liabilities) :-
ARETRAT BT BIY
(Share holders funds) :-
391 Yoil (Share capital)
20,000, 10 UITerd YaiErdR 3e U 2,00,000
(20,000, 10% Pref. share of Rs. 10 each)
2,000, HHdT 37 UADH 100 5. Bl 2,00,000
(2,000, equity share of Rs. 100 each)
w9 U4 3N (Reserve and surplus)

A—gT faavor — Sfde oy (90,000)
(Statement of P&L - Dr. Balance)
=1e] &1 (Current Liabilities)
FTaTRe <aaTg (Trade payable) 30,000
3,40,000
0C-304-S
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(1)
(i)

(111)

(iv)

(@)

(i)
(iif)

(iv)

I1.

(6)
THRTAT (Assets) :-

Il il (Fixed assets)

59 gaRidl (Tangible assets)

3= IR wHRidl (Fixed assets) 1,80,000

@it (Goodwill) 50,000

=T ARl (Current assets)

et (Inventories) 50,000

RS 9 (Trade receivables) 60,000
3,40,000

fFfoRad weama wikd By 1Y iR Ao & fory feagsat @ ergafd
TS B TS ©
100 %. el |H 3721 DI TTIHR 50 . dlel Yoiax] AH 372 41 faaT
S |
10 . dTcl 10 IIIT YaiedR 372l DI HCIhR 6 F. dlel Ui 10
yfererd gaffireR sfer a1 feam S |
I BT TAT AM—TIH @1 & ST A BT goia: sferRad o=
S |
Y IR BT STANT R G BT 3afeiRad &= # fHar S |
ST & g DIFTY AT H¥a=11 T uRRafdd faesr ¥ 9918y |
got HH ETaT W IR BRI |
The following resolutions were passed and the scheme was duly
approved by the tribunal :
Equity shares of Rs. 100 each be reduced to fully paid-up shares of
Rs. 50 each.
10% Pref. share of Rs. 10 each be reduced to 10% Pref. shares of
Rs. 6 each fully paid-up.
Goodwill and debit balance of P&L A/C be fully written off.
The balance of amount be used to write of other fixed assets.
Give journal entries and revised balance sheet of the company.
Also prepare capital reduction account.
d% JXIUTAT H YRSl UGId Bl Hell—HIfd AAssy | §9 Ugid &
U] HIT 87
Explain the slip system of book-keeping. What are its advantages
and disadvantages?

0C-304-S

(7
3rerar/OR

PRI T @ SMUR WR BT &1 811 & 1 B AT Feprfory:

1 THTRIR 2015 BT 3T T | 1 37U 2015 BT YRS Il
50,000 %. T | 2015—16 H AN T BT TR TP I 1,00,000 T. B
o | 39 31AfY & fHIT = 30,000 %. o | AfeTd = 31U+ {0 TART H
3,000 . BT AT SRIT | 1 Rk 2015 T &1 fdehl 2,00,000 2. o |
7,000 %. BT ATA ST ¥ 941 folaT AT | T 99 BT Aol A9 Bl
gfcrerd fashl @ arTd WR 25 ufderd 2
Find out the amount of claim of loss from stock from the following
information :

Fire broke out on 1 September 2015. Opening stock on 1*
April 2015 was of Rs. 50,000. Purchases during 2015&16 upto
date of fire were Rs. 1,00,000. Manufacturing expenses of this period
were Rs. 30,000. Proprietor used goods worth Rs. 3,000 fro his
personal purpose. Sales upto 1% Sept. 2015 amounted to 2,00,000.
Solvaged stock is valued of Rs. 7,000; Rate of gross profit on cost
of sales last year is 25%.
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